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1) If someone rents a house on the day of j0°1 7", who has the 2111 to do y»nn np>72?

2) What was the question that was posed to prx® 92 jam1 27?

3) What does the &n3 ask on this question?

4) How does the & nax explain the original question?

5) From which 17 (of a xn»92) does pr¥> 72 j»n1 27 want to bring a proof?

6) What is the wyn of this 17?
7) What is the apparent proof from this 1°7?

8) What is a nan?

9) What is the 17 of a 7an (mentioned in the &n»92)?

10) Explain what >"217 wants to learn out from this Xn>92 regarding y»nn?

11) What is the & nw® for this?
12) What do nmwoin ask on the (attempted) proof of >"217?

13) According to the first explanation of the >3, why is the statement of the p"v1 necessary?

14) What is %2v?
15) Why isn’t this necessary if a 12r7 gives food to someone, i.e. why don’t we find that one must

confirm with the nan that it is not 52vn?

16) Explain why y»n np>72 is different i.e. why he does have to verify?

17) Explain the concept of a "an"?




18) According to the second explanation of the >3, what is the case?

19) Explain why the statement of the p"v1 is believed?

20) How does that this prove that 172 1npin?
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